Ukázky jazykových testů z AJ, NJ a ŠJ použitých při přijímacích zkouškách 
na TF v minulých letech (bakalářské i navazující magisterské obory).
ANGLICKÝ JAZYK 

Wild Victor
“Monkey boys,” “wolf girls,” “gazelle boys,” and even an “ostrich boy;” they are all part of the lore of the feral children. Also known as “wild children,” these are children who have grown up with little or no human contact, and they are therefore unaware of human social behavior or language. Some are thought to have been raised by animals, some have reportedly fended for themselves in the wild, and others are victims of abuse, having grown up in the forced isolation of cages or basements.

Being skeptical by nature, I usually find such claims too incredible to be true, but there is a considerable amount of evidence and history available about feral children. While many of the historical cases are unreliable or completely fictitious, other records of feral children defy a simple explanation and are hard to ignore.

One example is a boy named Victor who was discovered foraging for roots and acorns in the woods near Aveyron, France in 1799. He appeared to be about eleven or twelve years old, but he didn’t speak. He was taken to Paris, where he resembled a human only in appearance. Victor behaved like an animal, he ate rotten food with pleasure, he was incapable of distinguishing hot from cold, and he spent much of his time rocking back and forth like a caged animal. He was taken into the care of the brilliant scientist Dr Jean-Marc-Gaspard Itard, who dedicated himself to the education of the boy. Victor proved to be a very difficult subject. Over the years, he only learned two terms, “lait,” and “oh dieu.” His sense of touch seemed to be far more important than his sense of sight, and he did not demonstrate an ability to distinguish right from wrong. He was indifferent to sex, and he learnt some menial tasks, such as setting a table. Victor lived the rest of his life in the care of his housekeeper, and died in 1828 at the age of forty. 

Read the statements and circle true (T) or false (F).  

1. The term feral children refers only to children who grew up with animals.       
          T or F
2. Feral children grow up socially excluded, however, they learn to speak in the end.     T or F          

3. Feral children can not succeeded in surviving on their own in the wild. 

            T or F
4. If you saw Victor´s Paris photo, you would consider him to be a normal man.
          T or F
5. Victor´s senses were able to recognize hot from cold.



          T or F 

6. Victor swayed from side to side occasionally. 




          T or F
7. Victor seemed to enjoy eating only fresh and raw food.



          T or F 

8. The scientist failed teaching him fluent French.



      
          T or F
9. It seems from this case that right and wrong are exclusively human categories.          T or F
10. Victor absolutely did not care for sex.





          T or F
Key: 1F, 2T, 3F, 4T, 5T, 6F, 7F, 8T, 9T, 10T

Feral children – Monkey Child
For centuries, people have told stories about children who were brought up by animals and became like animals: so called “feral children”. The definition says that “feral children” also known as “wild children,” are children who have grown up with little or no human contact, and they are therefore unaware of human social behavior or language. Some are thought to have been raised by animals, some have reportedly fended for themselves in the wild, and others are victims of abuse, having grown up in the forced isolation of cages or basements. Tarzan of the Apes, famous story about boy raised by gorillas, and The Jungle Book, which talks about Maugli raised by a wolfpack, are two famous fictional accounts. However, there are many other accounts which claim to be true, although it is sometimes difficult to separate facts from fantasy and folklore. 

One day in 1991, a Ugandan villager called Milly Sebba went further than usual in search of firewood, and came across a little boy with a group of monkeys. She summoned help and the boy was captured and brought back to Milly´s village. A villager identified the boy as John Sesebunya, last seen in 1988 at the age of three. His parents were absolutely convinced that their son ended up as a prey of wild animals, that they even did not launch a search after the missing baby. A cynic would say it is no wonder, as John had seven siblings, so why should they seek the eighth missing one. 

Later, John claimed that he got lost in the forest, and that he remembered monkeys coming up to him after a few days and offering him roots and nuts. The pack of five monkeys taught him, he says, to search for food and climb trees. John has been studied by a host of scientists, who are convinced that he is a genuine feral child. When left with a group of monkeys he avoids eye contact and approaches them from the side with open palms, just as monkeys do. 

Read the statements and circle true (T) or false (F).  

1. The term feral children refers only to children who grew up with animals.       
          T or F
2. Some feral children were able to look after themselves in the wild.

          T or F          

3. Maugli survived thanks to one wolf.




                          T or F
4. Some of the records about feral children are not very reliable.
 

          T or F
5. Milly was seeking herbs in the jungle.





          T or F 

6. Milly managed to catch John herself.





          T or F
7. John´s parents were moaning for their son and desperately looked for him.
          T or F 

8. John seemed to have been kidnapped by wild monkeys.



          T or F 

9. The monkeys must have considered him to be sort of related to them.
      
          T or F
10. John adopted typical social behaviour of monkeys.



          T or F
Key: 1F, 2T, 3F, 4T, 5F, 6F, 7F, 8F, 9T, 10T

Kamala and Amala

Feral children, also known as “wild children,” these are children who have grown up with little or no human contact, and they are therefore unaware of human social behaviour or language. Some are thought to have been raised by animals, some have reportedly fended for themselves in the wild, and others are victims of abuse, having grown up in the forced isolation of cages or basements.

Some feral children have been discovered in more recent history. In a modern version of the Romulus and Remus legend, two young girls were said to have been discovered under the care of a she-wolf in Godamuri, India in 1920. The girls were taken to an orphanage in Midnapore (now part of Orissa). The children, Kamala, aged eight and Amala, aged eighteen months, behaved exactly like small wild animals. They slept during the day and woke by night. They remained on all fours, enjoyed raw meat, and were given to biting and attacking other children if provoked. Deeply inside they remained wild predators, although there were many attempts to socialize them in a group of kids of the same age. They could smell raw meat from a distance, and they had an acute sense of sight and hearing. The youngest child, Amala, died one year later, but Kamala lived for nine years in the orphanage until she died of illness at the age of seventeen. Kamala did eventually acquire a small vocabulary, but she remained very different from other children until the time of her death.

Read the statements and circle true (T) or false (F).  

1. The term feral children refers only to children who grew up with animals.       
          T or F
2. Feral children grow up socially excluded, therefore they hardly speak. 
 
          T or F          

3. Feral children fail surviving on their own in the wild.


                          T or F
4. Surprisingly, feral children have beeen discovered recently as well.

          T or F
5. Romulus, Remus, Kamala and Amala were all reared by a wolf.

          T or F 

6. Kamala and Amala were adopted right after their discovery


          T or F 

7. Kamala and Amala rarely stood up like humans.




          T or F 

8. They had poor eyesight.






      
          T or F
9. Nobody tried to bring them into a community of peers.



          T or F
10. Kamala picked up a few words.






          T or F
Key: 1F, 2T, 3F, 4T, 5T, 6F, 7F, 8F, 9F, 10T

Wild Children

“Monkey boys,” “wolf girls,” “gazelle boys,” and even an “ostrich boy;” they are all part of the lore of the feral children. Also known as “wild children,” these are children who have grown up with little or no human contact, and they are therefore unaware of human social behavior or language. Some are thought to have been raised by animals, some have reportedly fended for themselves in the wild, and others are victims of abuse, having grown up in the forced isolation of cages or basements.

Being skeptical by nature, I usually find such claims too incredible to be true, but there is a considerable amount of evidence and history available about feral children. While many of the historical cases are unreliable or completely fictitious, other records of feral children defy a simple explanation and are hard to ignore.

From 1724 there are records describing a naked, brownish, black-haired boy who was found running up and down in the fields of the German town of Hamelin. The “creature” was enticed into town, and once there immediately became a subject of great interest. He behaved like a trapped wild animal, eating birds and vegetables raw, and when threatened, he sat on his haunches or on all fours looking for opportunities to escape. The boy was given the name “Peter” and was soon made the possession of King George I of England, where he lived the rest of his life. During his life Peter never learned to talk, showed a complete indifference to money or sex, and was never seen laughing. However he loved music, and he was able to learn a number of menial tasks before he died in 1785.

Read the statements and circle true (T) or false (F).  

1. The term feral children refers only to children who grew up with animals.       
          T or F
2. Feral children grow up socially excluded, therefore they hardly speak. 
 
          T or F          

3. Some feral children succeeded in surviving on their own in the wild.
                          T or F
4. Some of the records about feral children are not very reliable.
 

          T or F
5. Although the author of the text is sceptical, he proves the varity of some cases.          T or F 

6. Peter seemed to know only raw food.





          T or F 

7. When he felt in danger he started running and barking frenziedly.

          T or F 

8. Peter was given to the King probably like a curiousity or oddity.
      
          T or F
9. He was sort of primitive but seemed to be music sensitive, though.

          T or F
10. Peter was later used as a servant to do some simple jobs.


          T or F
Key: 1F, 2T, 3T, 4T, 5T, 6T, 7F, 8T, 9T, 10T

Australian Aborigines 
Australian Aborigines are one of the best known and least understood people in the world. The literal translation of the word 'Aborigine' is: the people who were here from the beginning. There is no written record regarding prehistoric Aboriginal Australia. Knowledge of the past is found in archaeological evidence and Aboriginal oral traditions which have been handed down from generation to generation. Prior to colonization the Australian Aborigines lived a lifestyle based on their Dreamtime beliefs. They had survived as a race for thousands of years and their lifestyle and cultural practices had remained virtually unchanged during that time. 


Colonization imposed changes on the Aborigines as people who lived in areas that were being settled by the Europeans, were forced off their land as towns and farms were developed. When settlers followed the explorers and began felling trees and building farms, they restricted the ability of the Aborigines to move freely around their land. They also destroyed their traditional food sources. Many natives were killed by diseases such as influenza. Thousands were massacred to make way for farms and settlements. 


However, many Aborigines adapted to the new lifestyle (when many became reliant on alcohol, tobacco and handouts of food and clothing). The settlers were often contemptuous of the Aborigines and separated them from their society and the people became the fringe dwellers of society. Others were removed from their families and placed into institutions. From the late 1830s the remnants of the tribes in the settled areas were moved onto Reserves and Missions where they were 'managed' by Whitemen and were forbidden from teaching their children their language and customs. During the 1900s separation was an official government policy which lasted for many decades and today, many Aboriginal people do not know their origins. They are a lost generation. 

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu T (true) nebo F (false) označte podtržením. 

1. Although the world knows much about Aborigines 

    it does not seem to understand them.





          T or F
2. In the past Aborigines did not keep any written records, chronicals or literary art.      T or F
3. All we learn about their history comes from their legends, songs and mythology.       T or F

4. The way they lived before colozination did not change at all for millenniums.
          T or F 

5. Europeans annexed the territories of Aborigines and made them leave.

          T or F
6. Aborigines´ imunity was sufficient to resist imported diseases.


          T or F
7. Alcohol addiction was not rare among Aborogines.



          T or F
8. New settlers were disgusted by Aborigines but tried hard to incorporate them

    in their white society.   







          T or F
9. In Missions Aborigines couldn´t spread their traditions on their offspring.
          T or F
10. To separate Aboriginal children from their parents was legal in 1900s.  
          T or F

Výsledky 1T, 2T, 3F, 4T, 5T, 6F, 7T, 8F, 9T, 10T
War photographer

I asked David Pratt what it is like to be a war photographer. “I like the immediacy of photography,” he explains, “and taking photographs in a war zone is about as immediate as it gets.” 

Some photographers are drawn by danger and excitement, others by the idea that their pictures can bring about a change. Pratt admits, “Yes, I agree that pictures can and do make difference. The images of Vietnam, particularly those of wounded US soldiers, went a long way to changing public opinion in the States. Photographs of suffering do alert public opinion, even if they don´t often change the minds of politicians.” Photography is by its nature an intrusive medium: the photographer is a participant rather than just an observer. 


In a Red Cross hospital in Cambodia, Pratt photographed victims of land mines. In the fly-infested ward, doctors were amputating limbs with no anaesthetic. One Australian photographer could not stand it and left the room. Pratt stayed and shot pictures. “These situations of course do affect you, but I felt I had to finish the job,” he says. “Then in my hotel room I just lay on my bed and cried my heart out.”

Apart from witnessing deeply disturbing events, the war correspondent often has a personal price to pay especially his relationships. It can be even harder for those left at home. In Pakistan he got an email reading that his long-term girlfriend had had enough of worrying and waiting and had left him. I had never seen him so shaken. He threw himself into his work, corresponding from the Israeli occupied West Bank and Gaza strip, Serbia, Kosovo, Cambodia. 


“I have never tried to glorify the war, I just try to show it the way it is, as sympathetically and compassionately as possible,” he says. “I would be devastated if forced to stay safely at home, running a photo agency. War photography has become my life. It´s what makes me tick.”
Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu T (true) nebo F (false) označte podtržením. 

1. For Pratt photography is something like a live broadcasting.


          T or F
2. Some photographers are just adventurers who like the thrill of danger.

          T or F
3. Pratt believes that photography is a powerful medium that can change the world.       T or F

4. Photos of US soldiers in Vietnam altered the minds of ordinary people in the USA.   T or F 

5. Pratt is a bit sceptical in the point war photos can influence political representatives. T or F
6. The operation room in the Red Cross hospital where doctors amputated limbs

    wasn´t sufficiently protected from insects.
         



          T or F
7. The experience from Cambodian hospital had no effect on his feelings.

          T or F
8. This job may be even more difficult for the photographer´s relatives and close ones.  T or F
9. He worked even harder to forget about the break-up of his long-term relationship.     T or F
10. He could easily get by without war photography.



          T or F
Výsledky: 1T, 2T, 3T, 4T, 5T, 6T, 7F, 8T, 9T, 10F
Aboriginal Australians
To protect themselves from the weather, the Aborigines of Australia often used caves or overhanging rocks, as dwelling places and as burial sites. They often decorated rock with paintings, drawings and etchings using white, red and other colored earth, clay or charcoal. 

The Aborigines also 'decorated' their bodies with personal decorations that included pipe-clay and other symbols that conveyed messages designs or patterns on their arms, legs and upper body - particularly at ceremonial times. The patters were not random. In other words they were symbols that conveyed messages e.g., they represented the totems of individuals or denoted information about the tribe itself. The Aborigines often used the fat of animals to cover their bodies to protect them from insects such as mosquitoes. Some of the early Europeans considered that this practice 'gave them a most unpleasant odor'. No doubt it did, but it also provided effective protection against insect stings. 


Throughout the country various tribes used animal bones, fish bones and feathers in their hair and in the Sydney, Illawarra and Shoalhaven districts the men wore a bone or piece of wood through their nose. A hole was cut through their nose during initiation and distinguished the members of the tribe from other tribes. 

We should not forget hunting habits of Australian Aborigines, especially boomerang. 

Contrary to popular belief, the boomerang did not originate in Australia. Historical traces of boomerangs have been found throughout the world. Australian Aboriginal boomerangs have been found as old as ten thousand years old, but older hunting sticks have been discovered throughout Europe. The famed King Tutankhamen of Egypt had an extensive collection of boomerangs over 2000 years ago. Since the Australian Aborigines are one of the few cultures in history never to develop a bow and arrow, their heavy dependence on the boomerang for hunting has ensured its preservation.

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu T (true) nebo F (false) označte podtržením. 

1. Aborigines never used to bury their deceased in caves.



          T or F
2. Aborigines decorated their bodies mainly to threaten their enemies.    
     
          T or F
3. Symbols on their bodies often expressed the membership to a certain tribe.
          T or F

4. These clay paintings also functioned as a skin protection against insect bites.
          T or F 

5. Europeans could hardly stand the stink coming from the protective animal fat layer.  T or F
6. Aborigines all over Australia pierced their noses with animal bones.  
 
          T or F
7. This piercing symbolized: I am ready to fight and I belong to this tribe.

          T or F
8. People all over the world wrongly believe boomerang is an Australian invention.       T or F
9. One European king´s hobby was to collect boomerangs.



          T or F
10. Australian Aborigines are the only culture that has never invented archery.  
          T or F
Výsledky: 1F, 2F, 3T, 4F, 5T, 6F, 7F, 8T, 9F, 10F
Three opinions about the problem of world population

A  If we carry on like this, the world will eventually run out of energy, clean water, food and land. Some of the poorest countries will soon have nuclear weapons, and will probably use them, as resources become scarce and wars begin to break out. If disaster is to be avoided, we must take action now to reduce the size of the world´s population. There is much the richer countries could do to encourage people to have smaller families. For example, if they gave all women in developing countries $25 a month until the birth of their third child, this would double or triple family incomes, and most women would decide to stop at two children, so as to keep receiving the money.

B  The problem is not that there are too many people in the world, but that we have not yet developed ways of meeting their needs. The world has faced many other challenges in the past, and found ways of dealing with them – indeed, progress is made precisely because there are problems to be solved. There have already been spectacular increases in food production to meet the demands of rising populations, and as new problems arise, so solution will be found for them. What is not acceptable is for rich nations to tell poor people that they are not allowed to have children. If we continue to interfere in their affairs, we will only cause suffering and resentment.

C  The main reason that poor people have a lot of children is that children represent money: they can get jobs or provide their parents with free labour. So the answer to the population problem lies in development. If their prosperity can be increased, people will begin to have fewer children. This has already happened in most of Europe, and is happening at the moment in countries such as South Korea and Taiwan. If the rich nations want this to happen, they must cancel  the huge debts that are crippling many developing countries. This would release much-needed money for economic development, and the population problem would look after itself.

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu T (true) nebo F (false) označte podtržením. 

1.  The sources are limited and this will result in international conflicts.
          
          T or F
2.  People should plan carefully all precautions before they start acting.
          
          T or F
3.  All poor women could be paid $25 until they deliver the third child.                          T or F

4.  Problems accelerate progress.





                      T or F 

5.  Whatever may come people will always deal with it. 


                      T or F
6.  The productivity of agriculture and food industry has risen enormously.                    T or F
7.  Rich nations never feel entitled to interfere in other nations´ affairs.
                      T or F
8.  Ironically, children in poor countries often maintain their parents.
                      T or F
9.  The higher prosperity the fewer born children.



                      T or F
10. Paying off the huge debts is drastically crimping 

      the economic development of poor countries.          


                      T or F
Výsledky: 1T, 2F, 3T, 4T, 5T, 6T, 7F, 8T, 9T, 10T
The first explosion of the atom bomb

In Los Alamos, New Mexico, camped the greatest collection of scientific brains on Earth:

R. Oppenheimer (American), E. Termu (Italian), G. Kistiakowski (Ukrainian), O. Frisch (Austrian), General L. Groves (American), E. Teller (Hungarian), and K. Fuchs (Briton), Better than any men in the world, they should have known what to expect in those still minutes before dawn in the desert. The explosion at 05.29 on July 16, 1945, (three weeks before Hiroshima) stunned its creators and changed the world: the atomic bomb worked.


Before 1942, however, Los Alamos didn´t exist. It was created for one purpose only, to house the technicians who would make the bomb before anyone else did. All mail was censored, and everyone was sworn to secrecy. The US government did not even trust its own protégés. Oppenheimer, who had mixed with left-wing groups in his youth, was tailed by FBI men. Einstein, who had written to President Roosevelt in 1939 urging him to develop the atomic bomb, was ruled out because of his outspoken pacifism and Zionism. Yet the real villain went undetected. K. Fuchs was revealed in 1950 as Stalin´s spy.


What is interesting is that the scientists were much more interested in sharing the bomb with the Russians than the politicians were. Some physicists dreamed of the bomb as an end to all wars, a possible means of establishing global government. 


Oppenheimer named the test Trinity, partly because of the Christian concept, but mainly because of the Hindu three-in-one godhead of Visnu, Brahma and Siva. 


The scientists had a bet with each other to guess how many tonnes´ equivalent of TNT their bomb would produce. So imprecise was their knowledge that Oppenheimer conservatively suggested 300. Teller, wiser, speculated an incredible 45,000. Radiochemical analysis revealed the blast had equaled 18,600 tonnes of TNT, four times what most of those involved on the project had guessed. 

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu T (true) nebo F (false) označte podtržením. 

1. The mentioned scientists belonged to the scientific elite of that time.

          T or F 

2. The test was realized in a thickly forested area.




          T or F
3. The scientists were really shocked of what they had seen.


          T or F
4. Los Alamos was chosen because it could provide sufficient accommodation capacity.     T or F 5. All letters sent from Los Alamos were controlled to keep the test secret.
          T or F
6. Although Einstein warned Roosevelt from the nuclear danger,

    he remained a member of the testing team.




          T or F
7. Fuchs secretly worked for his native land, but FBI didn´t know it until 1950. 
          T or F
8. Scientists had a different opinion from US politicians about sharing the bomb 

    with the Russians.








          T or F
9. Trinity also refers to God the Father, the Son and the Holy Spirit.

          T or F
10. No scientists guessed the bomb would equal 4,650 tonnes of TNT.

          T or F
Výsledky: 1T, 2F, 3T, 4F, 5T, 6F, 7F, 8T, 9T, 10F
THE JIM TWINS

Identical twins are fascinating because they challenge the notion that everybody is unique: they are unique people, of course, but they’re also unnervingly similar to each other – and not only in terms of appearance. They often share opinions, mannerisms and personality traits.

Identical twins occur in about 3 out of every 1,000 births, regardless of the age or ethnic background of the mother (unlike non-identical twins which are far more common among Africans than Asians). Although there may be tiny differences in appearances between identical twins, which allow family and close friends to tell them apart, they do have exactly the same DNA. This is because they develop from a single egg which divides in two during the very early stages of pregnancy.

For scientists, the non-physical similarities are the most interesting:  are they the result of growing up together in the same home, or are they the result of their identical DNA? By studying identical twins who have not grown up together, researchers can see which similarities remain and which disappear. In other words, they can learn which aspects of person’s identity are determined by genes and which are influenced by the environment. The Minnesota Twin Study is probably the best-known twin study to date. It provides information about how our environment and genes work together to influence attitudes, talents and abilities, job selection, falling in love, aging and health.

Identical twins Jim Lewis and Jim Springer were only four weeks old when they were separated; each infant was taken in by a different adoptive family. At the age of five, Lewis learned that he had a twin, but he said that the idea never truly „soaked in“ until he was 38. Springer learned of his twin at eight, but both he and his adoptive parents believed the brother had died. The two Jims were finally reunited at the age of 39. 

The similarities the twins shared amazed both the twins and the researchers. The very fact that both twins were given the same name was a big coincidence. But there´s more. 

- As youngsters, each Jim had a dog named “Toy”.
- Each Jim marrid twice – the first wives were both called Linda and the second both Betty. 

- One Jim named his son James Allan and the other named his son James Alan.

- Each Jim drove his light-blue Chevrolet to the same beach in Florida for family vacations.

- Both Jims held at one time part-time posts as sheriffs.

- Both were fingernail biters and suffered from migraines. 
In fact, research so far indicates that characteristics such as personality are mainly related to genes. 
Read the statements and circle T (true) or F (false). 

1. Identical twins prove the theory that each man is an absolutely unique individual. 
T or F
2. Identical twins look the same, they have totally different characters though.   
            T or F
3. There are cca 0.3% identical twins in population.

  


            T or F

4. African women produce statistically fewer identical twins than Asian women.             T or F 

5. Non-identical twins come from one egg which divides in 2 early after conception.       T or F
6. The Jims did not learn about each other until they were 5 years old. 

            T or F
7. Springer doubted his twin brother was dead.



                        T or F
8. Adoptive families agreed to give their twins the same name.


            T or F
9. The Jims had dogs, wives and sons with the same first names. 
  

            T or F
10. They both suffered from frequent headaches.

  

  
            T or F

Výsledky 1F, 2F, 3T, 4F, 5F, 6F, 7F, 8F, 9T, 10T
Fake Bones

In 1912, a scientific discovery made newspaper headlines around the world. An amateur fossil collector called Charles Dawson took a 500,000-years-old skull to a museum. After a thorough examination of the skull, the scientists told Dawson that it belonged to a kind of ape that had disappeared from the Earth thousands of years earlier. It represented a missing connection between modern humans and their ape ancestors. It was an unbelievably important piece of the jigsaw and became known as ‘Piltdown Man’.

Dawson told the scientists that he intended to collect more fossils from the same location. Over the following few years, he took other bones to the museum and the scientists gave Piltdown Man a scientific name: Eoanthropus dawson.

However, in 1953, three scientists from the British museum re-examined the bones carefully and uncovered the truth: the bones were a mixture of human and animal bones. They had been covered in a special substance to make them look older than they really were. Piltdown Man was a fake and Charles Dawson had been dishonest about the fossils from the beginning!

This article aims to show that sience is not almighty, always trustworthy, reliable and can be cheated. We should not always believe everything science claims and we should stick to our common sense. Although most scientists try to be objective and before they publish their findings they let them test and prove, the credibility of science is undermined by egoism and desire for sensation and popularity of some scholars. They are just humans and their success or revolutionairy findings bring them popularity, subsidies and scientific grants. If they provide no results the government will stop funding them. Never forget this!
Read the statements and circle T (true) or F (false). 

1. Dawson devoted his free time to excavations and archeology. 



T or F
2. The monkey whose skull Dawson brought became extinct long time ago.
       
T or F
3. This skull could prove the theory that we evolved from apes.

          

T or F

4. The bones Dawson collected were called after the location where he found them.   
T or F 

5. British museum scientists proved that the bones were much younger 

    than their colleagues originally thought.






T or F
6. They also damaged the reputation of Dawson and those who believed him.          
T or F
7. Dawson really believed he had made an awsome discovery until the very end.
          
T or F
8. People who fully trust science can be sometimes surprised.        


T or F
9. Some scholars chase for scientific discoveries just to satisfy their ego.      

T or F
10. It seems, that most scientists are under a great financial pressure to produce results.  
T or F
Výsledky:  1T, 2T, 3T, 4F, 5T, 6T, 7F, 8T, 9T, 10T
Younger Siblings
Children with older brothers and sisters find it easier to make people laugh, a survey has suggested. Just over half of younger siblings who took part in the survey said it was easy to be humorous, compared with a third of those who were first born. And just 10 % of only children had the skill, according to the study of 1,000 people by psychologist Richard Wiseman.  ‘Younger siblings have to compete for parental attention, so they have to be more unconventional. They are risk-taking, and also more humorous. 
On the other hand, older children tend to take on much more serious roles. They are born to be perfectionists, usually very reliable and responsible with a very strong sense of order and duty. They choose serious professions and quickly climb up the career ladder. No doubt, parents devote most energy, time and patience to their first born. And, of course, children without siblings don’t feel the need to compete at all. Parents are more and more tired with every other child and their upbringing becomes more and more liberal and relaxed, needless to say they are busy making enough money to feed all the kids and so the youngest are often ‘raised’ by their older siblings.’ 
Being funny in these younger siblings continues into adulthood. Younger siblings, who went on to become famous comedians in Britain include Rowan Atkinson, better known as ‘Mr. Bean’. 

Professor Wiseman, who compiled the report, said his findings tie in with other research about the effect of family position on personality. He said University of California research had suggested that, because younger children had not had the chance to develop the same skills and abilities as their older siblings, they had to find novel ways of gaining attention. This tends to make them more creative, unconventional, adventurous and rebellious. 
It is, however, necessary to take into account one important factor – the time period between siblings. If there are 3 children in family and the age differences exceed 5 years (for example 3, 9, 16 years old) then they don’t grow up like brothers or sisters any more, they grow up like 3 only children. In other words, they are usually mentally separated and incapable to develop strong bonds between each other. 

Read the statements and circle T (true) or F (false). 

1. The survey results indicate that younger siblings often have a sense of humour.         T or F
2. When concerning only children just 1 out of 10 finds him/herself amusing.
          T or F
3. Younger siblings become comedians in order to attract attention.

          T or F

4. It is not likely to find a doctor or scientist who was a first born baby.
                      T or F 

5. Parents’ education is stricter and stricter with every other baby.


          T or F
6. Tendencies to make people laugh always disappear with becoming adult. 
          T or F
7. University of California research confirms Wiseman’s findings.


          T or F
8. Improvisation and more relaxed way of life are not typical for younger siblings.        T or F
9. The effect of family position on personality has been proved by at least 2 studies.      T or F
10.A boy born 10 years after his brother might not establish a deep relation with him.    T or F
Výsledky: 1T, 2T, 3T, 4F, 5F, 6F, 7T, 8F, 9T, 10T
NĚMECKÝ JAZYK 
Kein Platz für Studenten

 

Die deutschen Universitäten erwarten in den nächsten Jahren einen Ansturm auf die Hörsäle: Doppelte Abiturjahrgänge sorgen für großen Zuwachs. Doch den Universitäten fehlt es an Platz und Geld.‎

 

An der Universität Köln tut sich etwas: Ein neues Gebäude wird gebaut. Und wenn dieses fertig ist, werden auch in den übrigen Gebäuden wieder Räume frei. Gebrauchen könnte man diese gut – das finden jedenfalls die Studenten der Universität. Zu oft müssen sie in den überfüllten Hörsälen auf dem Boden sitzen.

 Eigentlich hat die Uni Köln nur Platz für 20 000 Studierende – für das Wintersemester 2010/2011 schrieben sich aber über 42 000 Studierende ein. Das führt dazu, dass in manchen Fächern ein Professor 100 Studenten betreuen muss. Ein Student beschwert sich über die Situation in den Hörsälen: "Die ersten ein, zwei Monate sind brechend voll, jetzt schon." Die Situation wird in den nächsten Semestern nicht besser, wenn der doppelte Abiturjahrgang an die Universitäten stürmt. Schneller zum Studium, schneller zum Beruf – das war die Idee hinter der Verkürzung der Schulzeit von 13 auf 12 Jahre. Mittlerweile ist das in allen deutschen Bundesländern die Regelschulzeit bis zum Abitur. Das Problem: Zwei Jahrgänge von Schülern werden gleichzeitig mit dem Abitur fertig und wollen an die Universitäten. Bis 2015 werden deshalb deutschlandweit bis zu 275 000 zusätzliche Studienanfänger erwartet.

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu R (richtig) nebo F (falsch) označte podtržením. 

 1. An den Universitäten studieren immer weniger Jugendliche. 


R
F

2. In den nächsten Jahren ist die Zahl der Maturanten zweimal höher als früher. 
R
F

3. In Köln baute man ein neues Haus für die Universität. 



R
F

4. Die Studenten besuchen die Vorlesungen nicht oft. 



R
F

5. Die Universität in Köln organisiert die Aufnahmeprüfungen. 


R
F

6. Die Schulzeit in Deutschland wurde verlängert. 




R
F

7. Das Abitur ist sehr schwer. 






R
F

8. Die Schüler sind mit dem Abitur gleich fertig. 




R
F

9. In Köln erwartet man 275 000 Studenten. 




R
F

10. Bis  2015 wird das Problem mit den Studenten gelöst. 



R
F

Výsledky: 1F, 2R, 3R, 4F, 5F, 6F, 7F, 8F, 9F, 10F
Untergrundkirchen in China

 

Das Verhältnis zwischen Staat und Religion in China ist schwierig. Zwar gibt es staatlich anerkannte Kirchen, doch ein Großteil chinesischer Christen gehört illegalen  "Familienkirchen" an.

 In der chinesischen Verfassung ist das Recht auf Religionsfreiheit festgeschrieben, in der Praxis aber sind nur die staatlich kontrollierten Kirchen erlaubt. Die "katholische patriotische Vereinigung" zum Beispiel ist von Rom unabhängig; ihre Priester und Bischöfe werden vom Staat ernannt und auch bezahlt. Viele Christen fühlen sich dadurch in ihrer Religionsfreiheit eingeschränkt und gründen so genannte Familienkirchen. Die werden von der Regierung zwar meist geduldet, dennoch werden immer wieder Priester dieser Kirchen verhaftet.

 Der Rechtsanwalt Zhang Kai gehört ebenfalls einer Familienkirche an. Er betont, dass der Kern der Glaubensfreiheit in der Trennung von Kirche und Staat liegt. Die Regierung, so Zhang Kai, darf sich nicht in kirchliche Angelegenheiten einmischen. "Sie hat auch kein Recht zu beurteilen, welche Religion gut und welche schlecht ist", sagt der Anwalt.

 Mittlerweile fordert die Polizei, dass sich alle Gläubigen beim Betreten der Kirche mit ihren persönlichen Daten anmelden. Aber auch dadurch ließen sich die Gläubigen bisher nicht vom Gottesdienst abschrecken. Im Gegenteil: Die Zahl der Kirchenmitglieder nimmt zu.

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu R (richtig) nebo F (falsch) označte podtržením. 

1. In China ist Religion verboten. 






R
F

2. Die Religionsfreiheit in China ist nur formell. 




R
F

3. Der Staat bewilligt nur die Familienkirchen. 




R
F

4. Rom entscheidet, wer Bischof werden soll. 




R
F

5. Die Priester sind oft im Gefängnis.





R
F

6. Zhang Kai ist Jurist von Beruf. 






R
F

7. In China ist die Kirche vom Staat getrennt. 




R
F

8. Die Gottesdienstbesucher müssen ihre persönlichen Daten anmelden.

R
F

9. Der Staat will, dass die Gläubigen Angst haben, in die Kirche zu gehen.
R
F
10. Die Zahl der Gläubigen in China ist immer größer. 



R
F
Výsledky: 1R, 2R, 3F, 4F, 5R, 6R, 7F, 8R, 9R, 10R

Balkonien oder doch Mallorca?‎

Urlaub trotz Wirtschaftskrise – das ist für viele Menschen nicht selbstverständlich. Immer häufiger werden deshalb preiswerte Urlaubsreisen geplant. Die Hotels klagen über die sinkende Zahl der Reservierungen.‎

Urlaub ja oder nein? All-inclusive, Billigreise oder Ferien auf dem eigenen Balkon? Diese Fragen stellen sich immer mehr Deutsche aufgrund der Finanzkrise. Viele von ihnen glauben, dass sie nun den Gürtel enger schnallen müssen – auch beim Urlaub. Die Reiseveranstalter und Hotels spüren das deutlich an den sinkenden Buchungszahlen. In die Hotels kommen vor allem weniger Geschäftsreisende. Die Kette Grand City betreibt mehr als 50 Hotels mit zwei bis vier Sternen in Deutschland. Wenn die Krise anhält, müssen sie vielleicht Mitarbeiter entlassen. Bei ihnen sei die Situation aber immer noch besser als im Fünf-Sterne-Bereich, sagt man bei Grand City. Andere wiederum profitieren von der Krise: Dass die Kunden wieder auf den Geldbeutel schauen, stört Oliver Winter von A&O Hostels weniger. Sein Unternehmen bietet günstige und einfache Übernachtungen auch im Mehrbettzimmer an. "Bei uns buchen plötzlich IBM, E.ON oder Kinowelt für bestimmte Mitarbeiter", so Winter. Viele der neuen Gäste haben früher Hotels mit mehr Sternen gebucht.

 Der Trend zum preiswerten Urlaub ist auch bei den klassischen Urlaubsreisen sichtbar. Spitzenreiter sind All-inclusive-Angebote, bei denen die Urlauber ihre Ausgaben vorher planen können. Kein Wunder für Klaus Laepple vom Bundesverband der Deutschen Tourismuswirtschaft: "Wenn in den Medien tagtäglich über krisengeschüttelte Banken  berichtet wird, wirkt sich das natürlich auch auf die Konsumbereitschaft der Bevölkerung aus."


Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu R (richtig) nebo F (falsch) označte podtržením. 

1. In der Krise können sich viele Menschen einen Urlaub nicht mehr leisten. 
R
F

2. Immer weniger Menschen reservieren sich eine Unterkunft im Hotel. 

R
F

3. Manche Deutschen bleiben im Urlaub zu Hause. 



R
F

4. Viele Deutsche müssen jetzt mehr sparen. 




R
F

5. Geschäftsleute schlafen nur in teuren Hotels. 




R
F

6. Oliver Winter hat große Angst vor der Finanzkrise. 



R
F

7. Oliver Winter schläft nie in einem Mehrbettzimmer. 



R 
F

8. Hotels mit vier Sternen sind teuer. 





R
F

9. Viele  Menschen planen den Urlaub auf Mallorca. 



R
F

10. Die Menschen richten sich nach den Nachrichten in den Medien. 

R
F

Výsledky: 1R, 2R, 3R, 4R, 5F, 6F, 7F, 8F, 9F, 10R

Asyl für Deutsche

 

2008 flüchtete Familie Romeike aus Deutschland in die USA, weil sie ihre Kinder zu Hause unterrichten wollte. Ein amerikanischer Richter stimmte ihrem Antrag auf Asyl zu.

 2006 entschloss sich Familie Romeike, ihre Kinder aus der Schule in der süddeutschen Stadt Bissingen zu nehmen. Es soll dort viel Gewalt gegeben haben. Mutter Hannelore erzählt, dass die Kinder immer stiller wurden. Auch die Schulbücher gefielen den streng gläubigen Eltern nicht: Christliche Werte, erklären sie, haben dort keine Rolle gespielt.

Die Romeikes beschlossen deshalb, ihre fünf Kinder zu Hause zu unterrichten. Doch das ist in Deutschland verboten: Im Gegensatz zu den meisten anderen Ländern der Europäischen Union herrscht in Deutschland Schulpflicht. Zweimal kam die Polizei, um die Kinder zur Schule zu bringen. Die Angst vor hohen Geldbußen, Gefängnisstrafen oder der Entziehung des Sorgerechts wuchs. Um den Strafen zu entgehen, suchten die Romeikes eine neue Heimat – und fanden sie im kleinen Städtchen Morristown im US-Bundesstaat Tennessee.

Vater Uwe Romeike, Pianist und Klavierlehrer, hatte die Flucht in die USA dem europäischen Ausland vorgezogen, weil er hoffte, dass er hier mit seinem Beruf besser seine Familie ernähren kann. In den USA ist "Hausunterricht" nicht selten. Im Jahr 2007 wurden rund 1,5 Millionen Kinder zu Hause unterrichtet. Die befragten Eltern haben vor allem drei Gründe genannt, warum sie ihre Kinder nicht auf öffentliche Schulen schicken: Sie wollen sie nicht dem schlechten Schulklima aussetzen, sie wollen ihnen ihre eigenen religiösen und moralischen Werte weitergeben, und sie sind mit der Leistungsvermittlung der Schulen unzufrieden.

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu R (richtig) nebo F (falsch) označte podtržením. 

1. Familie Romeike darf in den USA nicht leben. 




R
F

2. Der Vater arbeitete als Richter. 






R
F

3. Den Eltern gefiel der Schulunterricht ihrer Kinder nicht. 


R
F

4. In Deutschland muss man die Kinder in die Schule schicken. 


R         F

5. Die Eltern haben keine Angst gehabt. 





R
F

6. Morristown ist ein Dorf im Süden der USA.




R
F

7. Die Kinder spielten oft Klavier. 






R
F

8. In Amerika unterrichten viele Eltern ihre Kinder zu Hause. 


R
F

9. In Amerika ist ein mildes Wetterklima. 





R
F

10. Familie Romeike ist sehr religiös. 





R         F

Výsledky: 1F, 2F, 3R, 4R, 5F, 6F, 7F, 8R, 9F, 10R

Haushaltspflege in Deutschland

Mehr als 2,2 Millionen Menschen sind zur Zeit in Deutschland auf Pflege und Unterstützung angewiesen. Viele von ihnen leben zu Hause, rund zwei Drittel werden von ihren Angehörigen versorgt. Um Familien in dieser Situation zu unterstützen, sind Haushaltshilfen unerlässlich. Dies belegt eine vom Deutschen Caritasverband (DCV) in Auftrag gegebene Studie des Deutschen Instituts für angewandte Pflegeforschung . die in Berlin vorgestellt wird.
Da die meisten Menschen möglichst lange in den eigenen vier Wänden leben wollen, sei die Unterstützung durch eine Haushaltshilfe für deren Angehörige eine wichtige Hilfe und Entlastung.
Neben dem Einsatz von Haushaltshilfen nutzt die Mehrzahl der Familien auch die Angebote der ambulanten Pflegedienste. Die Fachlichkeit der Pflegekräfte ergänzt so die Kompetenz einer Haushaltshilfe. Nur eine verstärkte Kooperation zwischen niedrigschwelligen Angeboten, den professionellen Pflegediensten und Haushaltshilfen kann zukünftig dazu beitragen, eine hohe Lebensqualität und die Entlastung der Angehörigen sicherzustellen. Der wachsende Bedarf nach Hilfen im Haushalt sollte auch dazu führen, über die Subventionierung von Arbeitsbereichen nachzudenken. So könnten auch einheimische Kräfte für den häuslichen Fürsorgemarkt eingesetzt werden.
Michael Isfort, der Leiter der Studie, macht deutlich, dass „der größte Bedarf an Unterstützung tatsächlich im Bereich haushaltsnaher Dienstleistungen liegt.“ Als wesentliche Gründe für die Inanspruchnahme einer Haushaltshilfe und damit einer Rund-um-die-Uhr-Versorgung nannte er „einen hohen Aufwand durch Beaufsichtigung aber darüber hinaus auch bei der konkreten praktischen Pflege. Vor allem Mobilitätsstörungen führen zu Leistungen, die zeitlich nicht planbar sind und alle Bereiche des Alltags betreffen“, so Isfort. Nach Schätzungen von Experten arbeiten zur Zeit rund 100.000 Frauen aus Mittel- und Osteuropa – überwiegend nicht angemeldet – in Haushalten mit pflegebedürftigen Menschen. Die Studie „Situation und Bedarfe von Familien mit mittel- und osteuropäischen Haushaltshilfen“ hat erstmals die Erfahrungen der betroffenen Familien, die Einschätzung ambulanter Pflegedienste und der Vermittlungsagenturen ausgewertet.

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu R (richtig) nebo F (falsch) označte podtržením. 

1. In Deutschland sorgen für viele Behinderte ihre Familien.

richtig  falsch

2. Behinderte Menschen leben lieber zu Hause als in einer Einrichtung     richtig  falsch

3. Der ambulante Pflegedienst ist sehr teuer.



richtig   falsch

4. Die Nachfrage nach Hilfen im Haushalt steigt.



richtig   falsch

5. Jeder Mensch muss eine Krankenversicherung haben.


richtig   falsch

6. Michael Isfort ist Chef von Caritas.




richtig   falsch

7. Manche Patienten muss man 24 Stunden täglich beaufsichtigen.            richtig    falsch

8. Frauen aus Osteuropa dürfen in Deutschland nicht arbeiten.                   richtig   falsch

9. Die Erfahrungen mit den Agenturen sind schlecht.                                  richtig   falsch

10. Man braucht mehr Studien über die Pflege.



richtig    falsch
Výsledky: 1R, 2R, 3F, 4R, 5F, 6F, 7R, 8F, 9F, 10F
Schlechte Ausbildung ist riskant

Sozialminister Rudolf Hundstorfer kündigte an, zusätzlich zu den 357 Millionen Euro für die Lehrlingsförderung auch 120 Millionen Euro für die Ausbildung und geförderte Beschäftigung von 20- bis 24-jährigen Arbeitslosen fließen zu lassen. Die Zahl der 20- bis 24-Jährigen ohne Job ist mit 34.373 Personen dreimal so hoch wie bei den Jüngeren, der Zuwachs zum Vorjahr betrug 43,3 Prozent. Die Krise verdeckt jedoch, dass ein Teil der Jugendlichen ganz andere Probleme hat als nur die falsche Ausbildung: etwa mangelnde sprachliche oder kognitive Kompetenzen, schlechte Umgangsformen oder fehlende Deutschkenntnisse. Solche Probleme können durch arbeitsmarktpolitische Maßnahmen nur zum Teil gemildert werden. In Österreich spitzt sich Arbeitslosigkeit – deutlicher als in anderen EU-Staaten– primär in bestimmten Gruppen zu, etwa bei Schul- und Lehrabbrechern oder Migranten mit geringen Deutschkenntnissen. Studien haben gezeigt, dass die Wahrscheinlichkeit, arbeitslos zu werden, für schlecht ausgebildete Jugendliche in Österreich mehr als doppelt so hoch ist wie für qualifizierte Jugendliche. Hofer sieht das Risiko, dass sich bei diesen Gruppen Arbeitslosigkeit verfestigt: „Wenn die ganze Nachbarschaft arbeitslos ist, wird dieser Zustand schnell als normal empfunden.“ Noch ist die Jugendarbeitslosigkeit in Österreich im EU-Vergleich gering: In Spanien etwa beträgt sie 31,8 Prozent, im EU-Schnitt 17,5, in Österreich 11,3 Prozent. Insgesamt liegt Österreich bei der Arbeitslosigkeit auf dem zweitbesten Platz nach den Niederlanden. Bei der Jugendarbeitslosigkeit muss es sich aber von deutlich mehr Ländern, darunter Dänemark, Deutschland und die Niederlande, schlagen lassen. Zum Schluss die gute Nachricht: Ein Teil der steigenden Jugendarbeitslosigkeit ist konjunkturell und saisonal bedingt: So sind überdurchschnittlich viele junge Menschen als Bauarbeiter oder Zeitarbeiter tätig. Zumindest die Lage der Bauarbeiter sollte sich schon im April verbessern.

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu R (richtig) nebo F (falsch) označte podtržením. 

1. Rudolf Hundstorfer will die Unterstützung der  Ausbildung erhöhen.     richtig   falsch

2. Es gibt immer weniger junge Arbeitlsose.                                          
 richtig   falsch

3. Junge Leute können Fremdsprachen nicht gut.



 richtig   falsch

4. Förderund des Marktes löst die Arbeitslosigkeit.


     
 richtig   falsch

5. Schlechte Ausbildung führt zur Arbeitslosigkeit.


     
 richtig   falsch

6. In Österreich gibt es keine Arbeitslosen.



     
 richtig   falsch

7. Arbeitslosigkeit ist für die Nachbarn normal.                                      
 richtig   falsch

8. Die meisten Arbeitslosen sind in Niederlanden.


     
 richtig   falsch

9. In der Saison bekommen mehrere Leute einen Job.                            
 richtig   falsch

10. Im April wird ein Lager gebaut. 



               
 richtig   falsch 
Výsledky: 1R, 2F, 3R, 4F, 5R, 6F, 7F, 8F, 9R, 10F
Muslime
Mehr als eine Milliarde Menschen aller Rassen, Nationalitäten und Kulturen überall auf dem Erdball sind Muslime – von den Reisfeldern Indonesiens bis zu den Wüsten im Inneren Afrikas, von den Wolkenkratzern New Yorks bis zu den Beduinenzelten in Arabien. Die größte muslimische Gemeinschaft ist in Indonesien zu finden. Nur 18% der Muslime leben in der arabischen Welt. In Usbekistan sind fast 80% der Einwohner Muslime. Die Muslime glauben an den einen, einzigen, unvergesslichen, barmherzigen Gott. Er ist der Schöpfer und Erhalter des Universums. Sie glauben an die von ihm geschaffenen Engel und an die Propheten, durch die seine Offenbarungen der Menschheit überbracht wurden. Gott hat die Autorität über das menschliche Schicksal, doch ist jeder für sein Tun individuell verantwortlich. Auch glauben die Muslime an das Leben nach dem Tod. Muslime glauben, dass Gott seine Gesandten und Propheten zu allen Menschen geschickt hat. Die abschließende Botschaft wurde dem Propheten Muhammad durch den Engel Gabriel überbracht. Muhammad wurde in Mekka im Jahre 570 abendländischer Zeitrechnung geboren. Während Muhammad heranwuchs, wurde er bekannt für seine Aufrichtigkeit und erwarb sich den Beinamen al-Amin, der Vertrauenswürdige. Muhammad war von nachdenklichem Wesen und hatte seit langem den Niedergang seiner Gesellschaft verabscheut. Mit vierzig Jahren empfing er eine Offenbarung von Gott durch den Engel Gabriel. Diese Offenbarung dauerte 23 Jahre lang an und ist als der Koran bekannt. Muhammad fing an, die Worte vorzutragen, die er von Gabriel gehört hatte. Er predigte die Wahrheit, die Gott ihm offenbarte. Die Leute von Mekka wandten sich auf jede erdenkliche Weise gegen ihn und die kleine Schar seiner Anhänger. Diese frühen Muslime erlitten schlimme Verfolgungen.

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu R (richtig) nebo F (falsch) označte podtržením. 

1. Muslime leben nur  in Arabien.




richtig

falsch

2. In Indonesien gibt es keine Muslime.



richtig

falsch

3. Muslime glauben an Gott. 





richtig

falsch

4. Gott hat die Erde geschaffen.




richtig

falsch

5. Das Leben der Menschen wird komplett von Gott bestimmt. 
richtig

falsch

6. Gott sendet die Propheten zu Engeln.



richtig

falsch


7.Muhammad ist der Name eines Propheten.


richtig

falsch

8. Muhammad stammt aus  Mekka.




richtig

falsch

9. Muhammad ist mit 40 Jahren gestorben.



richtig

falsch

10.  Am Anfang wurden Muslime nicht anerkannt. 


richtig

falsch

Výsledky: 1F, 2F, 3R, 4R, 5F, 6F, 7R, 8R, 9F, 10R

Globalisierung

Früher  waren die Strecken zwischen den Kontinenten große Hürden für die Kommunikation und den Warentransport.
Auch vor langer Zeit wurden schon Waren zwischen den Kontinenten transportiert. Zum Beispiel Gewürze aus Indien nach England. Diese waren sehr kostbar und daher lohnte es, viel Geld für den Transport auszugeben.
Im Laufe der Zeit wurden die Schiffe größer, schneller und sicherer. Durch den Durchbruch der Frachtcontainer wurde der Transport erneut deutlich einfacher und billiger. Die Kosten für den Transport von Gütern ist auf einen sehr niedrigen Preis gefallen.
Bereits vor dem ersten Weltkrieg fand eine Art Globalisierung statt. Der Grund war auch damals die Entwicklung von Kommunikationsmitteln und von Transportschiffen. Das Ausmaß und vor allem die Geschwindigkeit der damaligen Globalisierung waren jedoch nicht mit der heutigen Globalisierung vergleichbar. Thomas L. Friedman sagt vereinfacht: Durch die erste Globalisierung schrumpfte die Welt von groß auf  mittel, durch die zweite Globalisierung nun auf klein. 
Den Startschuss für die jetzige Globalisierung lieferte der Fall des eisernen Vorhangs. Nachdem die bipolaren Welt ein Ende gefunden hatte, bot sich dem Welthandel die Möglichkeit sich in der jetzigen Form zu entfalten.
Heutzutage lohnt sich auch der Transport von Billigprodukten über weite Strecken, beispielsweise von Plastikspielzeug von China nach Deutschland.

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu R (richtig) nebo F (falsch) označte podtržením. 

1. Große Entfernungen stellten früher ein Problem für den Warentransport.     richtig     falsch

2. In Indien und England wird Gewürze angebaut.                                             richtig     falsch

3 Der Schiffbau hat sich sehr gut entwickelt.                                                      richtig     falsch

4. Der Transport von Waren zwischen den Kontinenten gibt es seit 
    dem I. Weltkrieg.     






       richtig     falsch

5. Bis zu dem Fall des eisernen Vorhangs gab es keine Globalisierung.            richtig     falsch

6. Die Globalisierung ist jetzt schneller als früher.                                             richtig     falsch

7. Thomas L. Friedman verkleinerte die Welt durch die Globalisierung.           richtig     falsch

8. Die Welt ist nach wie vor bipolar.                                                                   richtig     falsch

9. Es lohnt sich, nur teure Produkte zwischen den Kontinenten
    zu transportieren.          






       richtig      falsch

10. Die Produktion der Spielzeugindustrie in Deutschland 
       ist auch in China anerkannt.   





       richtig      falsch

Výsledky: 1R, 2F, 3R, 4F, 5F, 6R, 7F, 8F, 9F, 10F

Europäische Union
Europa hat sich in 50 Jahren verändert – die Welt aber auch.

In einer globalisierten Welt, die in ständigem Wandel begriffen ist, muss sich Europa mehr als je zuvor neuen Herausforderungen stellen. Die Globalisierung der Wirtschaft, die demografische Entwicklung, der Klimawandel, die Energieversorgung oder die neuen Bedrohungen unserer Sicherheit – genug Probleme, die Europa im 21. Jahrhundert anpacken muss.

Die Mitgliedstaaten der EU können all diese neuen, Grenzen übergreifenden Herausforderungen nicht mehr allein bewältigen. Deshalb ist ein gemeinsamer europäischer Einsatz nötig – die Sorgen der Bürger müssen ernst genommen werden. Eine Modernisierung Europas drängt sich auf. Wir brauchen effiziente und aufeinander abgestimmte Instrumente – nicht nur für das Funktionieren einer kürzlich von 15 auf 27 Mitglieder erweiterten Union,  sondern auch zur Anpassung an die raschen Umwälzungen in der heutigen Welt. Die vertraglichen Regeln für unser Zusammenleben in Europa müssen neu gefasst werden.

Dies ist das Ziel des am 13. Dezember 2007 in Lissabon unterzeichneten Vertrags. Dort haben sich die Staats- und Regierungschefs – unter Berücksichtigung der politischen, wirtschaftlichen und sozialen Entwicklungen und in der Absicht, die Hoffnungen der europäischen Bürger zu erfüllen – auf neue Regeln geeinigt, in denen festgelegt ist, was die künftigen Aufgabenbereiche der Union sind und wie sie funktioniert. So ermöglicht es der Vertrag von Lissabon, die europäischen Institutionen und ihre Arbeitsverfahren anzupassen, die demokratische Legitimität der Union zu stärken und das Fundament ihrer Grundwerte zu festigen.

Der Vertrag von Lissabon ist das Ergebnis von Verhandlungen zwischen den Mitgliedstaaten auf einer Regierungskonferenz, an der auch die Europäische Kommission und das Europäische Parlament teilgenommen haben. Bevor er in Kraft treten kann, muss der Vertrag von allen 27 Mitgliedstaaten ratifiziert werden. Die Art der Ratifizierung legen die Mitgliedstaaten nach den jeweiligen Bestimmungen ihrer Verfassung selbst fest. Das zeigte sich jedoch als ein großes Problem. Die Zukunft des Vertrags von Lissabon ist deshalb fraglich. 

Přečtěte si pozorně uvedený text a uvažte, zda uvedené věty obsahově textu odpovídají. Zvolenou variantu R (richtig) nebo F (falsch) označte podtržením. 

1. Europa ist jetzt anders als früher. 





        R     F
2. Die einzelnen Staaten müssen ihre Probleme selbst lösen.
                    R    F
3. Dir Regeln des Zusammenlebens der Staaten darf man nicht ändern.
        R     F
4. Die Art der Ratifizierung des Vertrags von Lissabon bestimmt das 
        
    Europäische Parlament. 






        R     F 
5. Der Vertrag von Lissabon trat in Kraft vor den Wahlen in

    Europäisches Parlament.






        R     F
6. Die Europäische Kommission bereitete den Vertrag von Lissabon vor.
        R     F
7. Die meisten Europäer kennen die grundwerte der EU nicht.

        R     F
8. Die Globalisierung stellt eine große Gefahr dar.



        R     F
9. Der Vertrag von Lissabon beinhaltet neue Regeln.

                    R     F
10. Die Bürger sind mit den europäischen Institutionen nicht

        R     F
      zufrieden.  

Výsledky: 1R, 2F, 3F, 4F, 5F, 6F, 7F, 8F, 9R, 10F

Kluft zwischen Arm und Reich wächst

 In Deutschland wird die Kluft zwischen Arm und Reich größer: Die Mittelschicht schrumpft und Menschen mit niedrigerem Einkommen haben weniger. Wirtschaftsforscher befürchten nun eine Destabilisierung der Gesellschaft. Die Schere zwischen Bedürftigen und Wohlhabenden öffnet sich in Deutschland immer weiter. Nach einer Studie des Deutschen Instituts für Wirtschaftsforschung gibt es mehr Arme. Sie haben - und das verschärft die Lage - zugleich immer weniger Geld zur Verfügung. Auf der anderen Seite nehmen die Einkommen der bereits Wohlhabenden zu. Auch deren Anteil an der Gesamtbevölkerung wird größer. Dazwischen schrumpft die Mittelschicht. Angesichts dieser Zahlen kritisieren die Forscher das Sparpaket der Bundesregierung als zu einseitig. Es verschärfe noch die Entwicklung. Demnach stieg der Anteil der Armen  von 18 auf annähernd 22 Prozent. Ihr durchschnittliches Nettoeinkommen sank inflationsbereinigt von 680 Euro auf 677 Euro. Der Abstand zu den wachsenden Einkommen der Reichen und der Mittelschicht wurde größer. Daraus folgern die Forscher: "Das heißt nichts anderes, als dass die Ärmeren nicht nur immer mehr geworden sind, sondern dass sie im Durchschnitt auch immer ärmer werden." Am anderen Ende der Skala legte der Durchschnittsverdienst bei den Reichen von 2569 auf 2672 Euro zu. Ihr Anteil an der Gesamtbevölkerung stieg leicht von 15,6 auf 16,8 Prozent. Im Jahr 2008 hatte die Quote sogar bei 18,8 Prozent gelegen, erst durch die Wirtschafts- und Finanzkrise sank der Anteil wieder um zwei Prozentpunkte. Zu dem Bereich dazwischen - zur Mittelschicht - werden Nettoeinkommen zwischen 860 und 1844 Euro gerechnet. Der Anteil dieser Einkommensbezieher sank von 64 auf 60 Prozent. Der Trend sei langfristig besorgniserregend, befanden die Forscher. Immerhin stieg das Durchschnittseinkommen dieser Gruppe seit 2000 im Durchschnitt von 1287 auf 1311 Euro. In der Mittelschicht wurden aber starke Ängste festgestellt, im Status abzurutschen. Es gebe eine große Sensibilität für Entwicklungen, die ihre Lage bedrohen könnten, hieß es in der Studie. Damit bestehe die Gefahr, dass sich Ausländerfeindlichkeit und Fremdenhass ausbreiten könnten. 

Přečtěte si pozorně text a pak rozhodněte, zda následující věty textu obsahově odpovídají. Odpovídající variantu označte zakroužkováním. (R = richtig, F = falsch)

1. Der Unterschied zwischen armen und reichen Menschen in Deutschland 
ist immer größer.








R
F

2. Die Zahl der amen Menschen ist immer höher. 




R
F

3. Reiche Menschen haben immer mehr Geld. 




R
F

4. In Deutschland spart die Regierung nicht gerecht. 



R
F

5. Die Menschen können sich für ihr Geld immer mehr Sachen kaufen. 

R
F

6. Die Krise hat auch die Reichen ein wenig betroffen.                              

R
F

7. Es gibt immer weniger Menschen in der Mittelschicht. 



R
F

8. Diese Situation bringt in der Zukunft keine Probleme mit sich. 


R
F
9. Die Menschen haben Angst, dass es ihnen schlechter gehen wird. 

R
F

10. Die Deutschen sind gegenüber Fremden sehr tolerant. 



R
F
Das Klosterhotel

Die Ordensschwestern im Kloster Arenberg wohnen bescheiden, während nebenan die Gäste in hochmodernen Zimmern logieren und sich im Wellness-Bereich verwöhnen lassen. So sichert das Kloster sein Überleben. Mittags geht es im Kloster Arenberg bei Koblenz hoch her: über 80 Gäste schwirren durcheinander und unterhalten sich vergnügt. Anders als in einem traditionellen Kloster ist es hier überhaupt nicht ruhig. Das Kloster ist zum modernen Hotel umgebaut worden. Obwohl es nach wie vor auch ein Kloster ist, kann man hier seinen Urlaub verbringen, ohne sich direkt mit Gott zu beschäftigen. Für die Schwestern ist das aber kein Widerspruch. Schwester Josefa sieht ihre Aufgabe darin, dafür zu sorgen, dass es anderen Menschen gut gehe. "Es geht darum, dass die Menschen sowohl was für ihren Körper tun können, aber auch was für ihre Seele, also auch ihre Spiritualität suchen und finden können." Gleichzeitig ist es ihr aber auch ein Anliegen, einen Raum zu schaffen, in dem wirklich auch Ruhe und Stille ist, um sich selbst zu finden. Schwester Josefa lebt seit 27 Jahren im Dominikanerinnenkloster Arenberg. Damals wurden hier noch ein Internat, eine Schule und ein Sanatorium geführt. Dann kam das Kloster in finanzielle Schwierigkeiten und man beschloss, sich nach außen hin zu öffnen. Zuerst wurden die Besucherzimmer mit Duschen ausgestattet. Dann wurde aus der alten "Bäderabteilung" ein hochmodernes Zentrum mit Massagen, Fangopackungen und Senfwickeln. Die Menschen die Urlaub im Kloster können auch an einem sportlichen Programm teilnehmen. Häufig sieht man sie ganz früh morgens, wenn sie barfuss zum Tautreten durch die Wiesen laufen oder Gymnastik machen. Und nach dem Frühsport geht es für viele Gäste nicht gleich ans Frühstücksbuffet, sondern in die Kirche. In den Gottesdienst gehen viele nämlich überraschend oft, obwohl die meisten der Gäste angeben, nicht sehr religiös zu sein. 

Přečtěte si pozorně text a pak rozhodněte, zda následující věty textu obsahově odpovídají. Odpovídající variantu označte zakroužkováním. (R = richtig, F = falsch)

1.  Die Gäste im Klosterhotel wohnen sehr bescheiden. 



R
F
2. In das Kloster dürfen fremde Menschen nicht kommen. 



R
F

3. Im Kloster befinden sich Zimmer für Hotelgäste. 



R
F

4. Im Kloster muss man immer still sein. 





R
F
5. Jeder Gast im Hotel muss katholisch sein.




R
F

6. Schwester Josefa ist 27 Jahre alt. 






R
F
7.  Die Gäste treiben im Hotel auch Sport. 





R
F

8. Die Gäste können auch Gottesdienste besuchen. 




R
F

9.  Dem Kloster hilft das Hotel finanzielle Situation lösen. 



R
F

10. Im Hotel gibt es keine Zimmer mit Dusche. 




R
F

Umweltschutz nur zum Schein
Von der mehrspurigen Autobahn bis zur Müllverbrennungsanlage – die Europäische Union fördert über 50 Projekte, die der Natur schaden. Umweltschützer kritisieren die EU dafür.

 Beim Umweltschutz sieht sich die Europäische Union gerne als Vorreiter. Die EU finanziert aber auch Projekte, die die Umwelt zerstören. Ein Beispiel dafür ist der Wedauer Wald in Duisburg. Hier gab es bis vor kurzer Zeit noch zahlreiche Vogelarten und sogar seltene Fledermäuse. Aber vor einigen Monaten wurden sie vertrieben. Die Stadt baut einen neuen Kanal mit einer Strecke für Ruderboote, einem beleuchteten Weg für Spaziergänger und einem Spielplatz.
 Nicht alle Duisburger sind von dem Projekt begeistert. Denn für den Bau der Anlage wurden fast 1000 Bäume abgeholzt. Das Projekt wird zu einem Drittel von der Europäischen Union finanziert. Matthias Schneider vom BUND kann das nicht verstehen: "Die Projekte, die mit EU-Geldern finanziert werden, sollten eigentlich umweltschonend durchgeführt werden. Das ist aber nicht immer so."

 Die Umweltschutzorganisation "Friends of the Earth" kritisiert in einem Bericht 50 Projekte, die mit EU-Geld finanziert wurden und gleichzeitig die Umwelt zerstören. Insgesamt wurden dafür 22 Milliarden Euro ausgegeben. Darunter sind zum Beispiel Müllverbrennungsanlagen in Polen und eine Autobahn in der Tschechischen Republik.

Přečtěte si pozorně text a pak rozhodněte, zda následující věty textu obsahově odpovídají. Odpovídající variantu označte zakroužkováním. (R = richtig, F = falsch)

1. Europäische Union schützt immer die Umwelt. 


 

R
F
2. Einige Projekte EU schaden der Natur.





R
F

3. In Duisburg sind im ZOO viele Vögel. 





R          F
4. In Duisburg darf man keine Bäume fällen. 




R
F
5. Matthias Schneider finanziert viele Projekte. 




R
F

6. EU finanziert in Deutschland nur 50 Projekte.




R
F
7. Die Autobahn in Tschechien soll nicht gebaut werden.



R
F

8. In Duisburg werden ein Kanal, ein Fußgängerweg und ein Spielplatz gebaut.
R
F

9. Die Europäische Union wird von den Naturschützer kritisiert.


R
F

10. In Wedauer Wald leben nicht mehr so viele Vögel.



R
F
Geld für die Lieben

Viele Menschen wandern auch deswegen aus, weil sie ihre Familien in der Heimat unterstützen wollen. Die kleinen Geldbeträge summieren sich zu einem globalen Wirtschaftsfaktor. Doch die Effekte sind nicht nur positiv.

Seit fast 20 Jahren arbeitet Barbara Czarnecki (Name geändert) in Deutschland, fühlt sich wohl in Köln und schickt regelmäßig Geld nach Polen. "Jeden Monat zwischen 300 und 400 Euro", sagt die 56-Jährige. Denn ihr Sohn verdient in der Heimat nicht genug, um davon leben zu können. Früher, so erzählt Barbara Czarnecki, habe sie auch ihre Mutter unterstützt, denn deren Rente habe gerade einmal für die Miete gereicht.

Wie Barbara Czarnecki schicken viele Migranten in der EU Geld nach Hause, 300 Euro im Monat sind es durchschnittlich. Ungefähr ein Drittel der Überweisungen geht in andere EU-Länder, zwei Drittel gehen ins nicht-europäische Ausland, meist in Entwicklungsländer. Die kleinen Beträge summieren sich zu einem bedeutenden Wirtschaftsfaktor: Die Weltbank schätzt die Summe der weltweiten Heimatüberweisungen in Entwicklungsländer auf 325 Milliarden Dollar im Jahr – das ist mehr als dreimal so viel wie die staatliche Entwicklungshilfe, die bei der UN registriert wird.

Doch die Unterstützung der Lieben daheim ist nicht nur segensreich. So verweisen mehrere Studien auch darauf, dass die Überweisungen die Lebenssituation der ärmsten Familien verschlechtern können - denn die können sich die Auswanderung nicht leisten und leiden darunter, dass die Geldtransfers die Inflation verstärken. So investieren viele Migranten in ein Haus in der Heimat. Damit steigen die Grundstückspreise und irgendwann können sich nur noch jene Familien Wohneigentum leisten, die Verwandte im Ausland haben.

Přečtěte si pozorně text a pak rozhodněte, zda následující věty textu obsahově odpovídají. Odpovídající variantu označte zakroužkováním. (R = richtig, F = falsch)

1. Leute wandern ins Ausland nur auf Urlaub.




R
F
2. Barbara Czarnecki wohnt in Polen. 





R
F

3. Barbara hilft finanziell ihrem Sohn. 





R
F

4. Barbaras Mutter hat eine hohe Rente. 




R
F

5. Die Ausländer verdienen im Ausland 300 - 400 Euro                                 
R
F
6. Die Summe der Hilfe von Migranten beträgt 325 Milliarden Dollar p

     ro Jahr.









R 
F

7. Das Geld der Migranten bringt den armen Menschen auch Probleme.
R
F

8. Manche Migranten kaufen zu Hause ein Haus.



R
F

9. Die Preise der Grundstücke in der Heimat  sind immer höher.                 R
F

10. In Polen kann sich jede Familie ein Haus kaufen. 



R
F

ŠPANĚLSKÝ JAZYK 
El español en el mundo

En España se hablan cuatro lenguas: el español o castellano, el catalán, el gallego y el vasco. Excepto el vasco, todas descienden del latín, que a su vez pertenece a un grupo de lenguas englobadas bajo la denominación genérica de indoeuropeo. El castellano, el catalán y el gallego tienen su origen en la evolución del latín en las diferentes regiones y su contacto con la lengua de los habitantes de esas regiones. 

El catalán se habla, actualmente, en las comunidades de Cataluña, Comunidad Valenciana y en las Islas Baleares; el gallego en Galicia; y el vasco en el País Vasco. El español también se llama castellano porque es en esta región, Castilla, donde tiene su origen. Además, se pueden distinguir diferentes dialectos dentro del español.

Mucha gente estudia español. En Internet pone que el español es la segunda lengua más estudiada, después del inglés. Hay unos 20 millones de estudiantes de español en 90 países donde no es lengua oficial. En general, la gente estudia español para hablar con los familiares o amigos, o porque es importante para su trabajo. Muchos turista visitan España para conocer la cultura y mejorar su español. 

El español es la lengua oficial no sólo de España, sino también de muchos países de América Latina. Además se habla en diferentes zonas de Estados Unidos. En total hablan español más de 500 millones de personas (320 millones como lengua materna). Es la tercera lengua más hablada del mundo, después del chino mandarín y el inglés. Por razones demográficas, el porcentaje de población mundial que habla español como lengua nativa está aumentando, mientras la proporción de hablantes de chino e inglés desciende. En 2030, el 7,5% de la población mundial será hispanohablante (un total de 535 millones de personas). En 2050 Estados Unidos será el primer país hispanohablante del mundo.
Marca verdadero (V) o falso (F) según el texto:

1. En España se habla el español o castellano solamente.



V o F


2. El vasco es la lengua indoeuropea.





V o F


3. El español se llama castellano también porque tiene su origen en Castilla.
V o F


4. En el español no hay dialectos.






V o F


5. Unos 20 millones de estudiantes estudian español en países donde no es lengua oficial.









V o F


6. En Estados Unidos el español es lengua oficial.




V o F


7. El chino es la segunda lengua más hablada del mundo.



V o F


8. El español se usa como lengua oficial en muchos países de América Latina.   V o F


9. En el futuro la posición del español mejorará porque su posición como lengua nativa está aumentando.








V o F
10. La mayoría de las lenguas que se hablan en la Península Ibérica tienen su origen en el latín.









V o F


Clave: 1F, 2F, 3V, 4F, 5V, 6F, 7F, 8V, 9V, 10V
